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choose the correct answer: :M‘ a—.“éy‘ Q:‘i‘

I C(x) = 0.02x* + 2x + 4000 &) s=22 = (1)
CraBang X AN Ada AS pAl aal jally AU Mlaa) 8
dasll  gia ‘53.\\ ZEN) (g ghana A gl8 dima Ciladiia
r LARICY) Ja gial (éj.m.“
Suppose thatC(x) = 0.02x%? + 2x + 4000 is the total cost
(AED) for a company to produce x units of a certain product.

Compute the marginal cost at x = 100 and compare this to the
actual cost of producing the 100th unit.

(a) ~ 447 (b) ~ 347 (c) =744 d) =~ 474

I bugiadlls & C(x) s4dlsl dlla 4 C(x) o (2)

C(x) = 0.01x?% + &) pap Jo | 4l

C Ciasll Ja 40x + 3600
C (100) C (100)

U)Let C(x) be the cost function and C(x) be the

average cost function. Suppose that C(x) =
0.01x* + 40x + 3600.

mt\re the two quantities

€ (100) 2500655, € (100)
— (a)= W=+ (o> d) <

Z
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S8 Adiua gl E\JJMBQJ‘;J\M\ sall) &) o R A=(3)
T o o s s i P(E) = 4P(O)[5 — PO
oalint) Aadll ) gall) Jana

Suppose that a population grows according to the
ogistic equation
P'(t) = 4p(t)[5 — p(t)]. Find the population at which
the

opulation growth rate is a maximum

(a) 2.5 (b) 5.2 (c) 25 (d) 52
AL b il (5 jhual) Aagll) (g8ay M) ZUY) (5 gla 2250 (4)
IC(x) = 0.1x* + 3x + 2000

Find the production level that minimizes the
Caverage cost. C(x) = 0.1x* + 3x + 2000

(@) 100V2 (b) 1082  (¢) 100v¥3 (d) 101V2
AR Sy gial (5 ual) dagll) Ghay 1) U (5 giua 2250 (5)
(L)@ = 0.2x° + 4x + 4000

Find the production level that minimizes the
average cost. C(x) = 0.2x3 + 4x + 4000

Z (c) ~12.54 (d) =~ 21.54

00971503393009 -3~ (Cxadl) Gmes A,
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AR b il (5 jhual) Aaddl) G8ay s M) ZUNY) (5 glwa 2251 (6)

IC(x) = 10e002*

Find the production level that minimizes the
m——1average cost. C(x) = 10e%0%*

. (a) 50 (b) 25

> (c) 55 (d) 15

AR S gial 5 jual) Al Fhay s M) Z LYY (s gisa 234 (7)
| C(x) = Vx3 + 800

IFind the production level that minimizes the
a

verage cost. C(x) = Va3 + 800
(@) V2600 (b) Y1660

-

(b e X e AAIS o 28 e (8)

m Cillaasy) As 3a g sl C(x) = 23 — 30x2 + 300x + 100

(¢) Y1600 (d) Y10600

Suppose the cost of manufacturing X items is

| | IC'(x) = x> — 30x%* + 300x + 100 AED.
Find the inflection point

— (a) x =5 (b) x = 10

2 (c)x =9 d x =11

00971503393009 -4~ (Cpadl) Gmes A
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f(p) =200(30 —p) &a E lhall A 4 224l (9)

I Find the elasticity of
demand E where f(p)=200(30—p)

(@) E = p —P

— p+ 30 p— 30

_ P _ P
]> (© E= 55 DE= 35—

—

(b)E =

f(P) = 100p(20 — p) < E ikl &g 224) (10)
IFind the elasticity of demand E where
f(p) =100p(20 —p)

00971503393009 -5- () s A
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f(p) = 60p(10 — p) s E lhal) &5 329 (11)
I Find the elasticity of demand E where

f(p) = 60p(10 —p)

_ 2p+10 2p — 10

@E=-"70 BE= 37=70

r

2p+10 _ 2p-10
> © =210 DE= 70
r

I (E < —1) Uje llall 4 68 o3 ) gia 3240 (12)
f(p) =200(30 — p) =

CFind the range of prices for which the demand is
elastic (£ <—1).where f(p)=200(30—p)

N

m (a) 10<p <30 (b)15<p <20
I_I_I (c) 5<p<15 (d)15<p <30

Z

O agd 3l g Aaaual) Aal) agagdl agll

00971503393009 -6~ (Cxall) s A
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(E < —1) U llal) 48 068 o3 Jlall) g2a 2290 (13)
f(p) = 60p(10 — p) cua

Find the range of prices for which the demand is
elastic (£ <—1). where f(p)=60p(10—p)

20

20
(d)?<p<20

Adaall Wy Alassl) pail) 5085 S 1Y (14)

( 4 Juai 53 x(1) B /X' (t) = 2x(D)[4 — x(D)],
(alad) Aadl) ) Jelill) Ay

f the concentration of a chemical changes according to the
equation x'(t) = 2x(t)[4 — Xx(t)], find the concentration
mx(t) For which the reaction rate is a maximum

(a) x=3 (b)x=1

B

©x=4 (d)x =2

Z Ol Hﬁj\)\\g :\A,pa.a.“ aday H-A@-“ ('-@.m

00971503393009 - 7- (Cxadl) Omess DA
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I Usaall ladg il il 38 5 S VY (15)

b Juail M) x(t) i B g/x' (t) = 0.5x(8)[5 — x(B)],
E— -g""B"“ Aadll u'“ Je il 19)"“

If the concentration of a chemical changes according to the
equation x'(t) = 0.5x(t)[5 — x(t)], find the concentration
X(t) For which the reaction rate is a maximum

> (@) x=2.5 (b) x = 4.5

|_ (c)x=3.5 (d)x=5.5

Al Sl 3l B Aal) of G2 sd e (16)
Q'(t)cle Q(t) = e ?*(cos3t— 2sin 3t)
C(IG) Assuming charge in the circuit is
Q(t) = e *t(cos 3t — 2 sin 3t), then Q'(t)
U)(a) e ?t(8 cos 3t + sin3t)

m(b) e %t(—8 cos 3t — sin3t)

(c) e 2'(—8 cos 3t + sin3t)
I—I—I(d) e~%t(8 cos 3t — sin3t)

OB agd 50 dasaial) AlaY) agagd) agdll

Z

00971503393009 -8~ (Cxall) s A,
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